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Example 3: Aaisina

a. Use synthetic substitutioh to evaluate the
function.

-L;Qfor'f() x*=3x%" +7x* -
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b. Determine k so that g(x) =2x° +5x% +kx—16
has x—2 as a factor.
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Q(af}« s(3)*+ KB)-le =0
Wt 26 +aK = g
K=-10
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We will now do psBaAléh #7, 13, 19, 25, 45(a,b), 69, 84 (see below) as classwork. It is due IN CLASS.

7. Use long division to divide (4x3 —7x* —11x+5)+(4x+5).
13. Use long division to divide (6x3 +10x* +x +8)+(2x2 + 1) .
19. Use synthetic division to divide (3x3 ~17x* +15x—25) +(x—5).

25. Use synthetic division to divide (Sx3 —6x” + 8)+

45. Use synthetic division to find each function value.

a. f(l)
b. f(-2)

(x—4).

f(x) =4x’-13x+10 .

Ay B¢’ x4 3

69. Simplify the rational expression

2x-3

by using long division or synthetic division.

84. Find the constant ¢ such that the denominator will divide evenly into the numerator for the rational

% +4x* =3x +¢

expression
X=—3
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